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Announcements

● The Midterm Exam is this Wednesday from 7-9PM. See this post on Ed for 
lots of details, including where to take it, what is covered, what to bring, and 
how to study.

● Homework 4 and 5 scores are available on Gradescope.
● There is no lecture on Thursday and no discussion on Friday.
● Homework 6 is due on Thursday, October 17th.

○ Work through the SQL and regular expressions questions beforehand, because the concepts 
are all in scope for the exam!

○ TF-IDF is in scope too, but we’ll review that today.
?

definitely do

Question 1 !



Agenda

● We’ll work through the review worksheet posted here: 
study.practicaldsc.org/mt-review-tuesday

● I’ll post these annotated slides after lecture, and enable solutions on the 
study site for this worksheet after, too.

● The solutions + recording for Monday’s review session are also posted.

ask questions : practicaldsc . org /9 !
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word= term

count 2 ways TF-IDF
= 0 :

1) TF= 0
X - never appears in d
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will=u+--- fun

Cos sim (n,v)=Hill

x = Y .T
only because all rows
here have

let's take 3 dot products ! Kill = 1 !

0- 1 : 0 . 47 . 0
.76

0-2 : 0.47 : 0. 58 + 0.71
. 0. 58

0- 3 : 0 . 47 - 0.71
-

which is largest?



let's take 3 dot products !

0- 1 : 0 . 47 . 0
.76 < 0 . 5 - 0 . 8 = 0 . 4

0+2 : 0.47 : 0. 58 + 0.71
. 0.55) 0 .4-0-5+0 .7

-0 .5
0 .2+0.35=0 .55

- rule out
,
because0. 47 - 0.71

0. 71 c 0 . 76
which is largest?
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dogs. groupby ("district") . filter (lambda df :df. shape(0) ==3)See-
("col") . size() ↓

groupby I does this district appear3["col"] . value- counts() exactly 3x ?

-> 40 districts appear exactly 3x

-> total rows = 40 . 3 =fi
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outputdf
: (13) (4) + (7) (0)
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+56 =10
Ithere, left-right-outer= inner merge !!!
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all this does is add
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